50 5 60 (=6 T Exposants de 10

Nom: Date: Note:
10° = 203+ 10 =
10° = 9 x 10% =
10° = 10% =
10° = 9.83 x 10° =
7% 10* = 5x10% =
10° = 835 x 102 =
10° = 10° =
2.88 x 10° = 3% 10° =
322+10° = 5.82+10% =
10* = 8 x 10° =
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Exposants de 10

Nom:

10° = 1000000

10° = 1000

10° = 1000000

10° = 1000

7 x 10* = 70000

10° = 100000

10° = 1000000

2.88 x 10° = 2880
3.22+10° = 3.22E — 05

10* = 10000

Date: Note:

2.03+ 10 = 0.203
9 x 10* = 90000

10* = 10000

9.83 x 10° = 983000
5x 10% = 50000

8.35 x 10> = 835

10° = 1000

—3 x 10* = —3000
5.82+ 10* = 0.000582

8 x 10° = 8000
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